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Fifth Semester B.E. Degree Examiqatidl, Dec.202
Mechanism & Mac-hine Theory
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Mechanism & Macl

AI| = 200 mm
BC = 370 mm

F :2.oor.l CD = 250 mm
AD = 215 mm
CE: 100 mm
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Explain the classifications of Gear. 
Module-3 

,,,,f ,-:' ;" Marks)
"I:iO ** and 20 Pressure angle.Two mating gear have 20 and 40 involute teeth of mo(rl*e

The addendum of each wheel is to be made of such-a lehgtff that the line of contact on each

side of the pitch point has half the maximum possible l#gth'
(i) The addendum height for each gear whee15:::::1', ;ir

(ir) The length of path of contact.
(iii) The length of arc of contact. 1, i"'

(rv) The contact ratio. 
.,,*

ti,_,i.oR

''-'".,,."1r.:'-'' (14 Marks)
i::::::::r:r'r' lil

6a. In an epicyclic gear train as shornqa l*$ig- Q6 (a), the nu

andC are48,24and50

ri.i,r{... 
A I B ,"r;;-li

c ire 48,24 and50 respecffi$firtne arm rotates at 4{.p,rnm

(D Speed of gear w\Al$,:fuhen A is fxed and o''"-'r

(0 Speed of gear whg{,,il when C is fixed. ,i.. "'*

rym Id*ie. Q6 (a), the numb*diof teeth on gear wheel A,

,#el lf tnt arm rotates at 40,#q?m clockwise, find
fi'*hen A is fixed and o''"'-,,.,"i

(14 Marks)

;'l19o. . .,, FiB.Q6 (a)

b. Wlth hg&_o_ffieat sketch, explain,fgfppound Gear Train. (06 Marks)
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a. Define Balancing. Explain in &tail and its types...'r$u:i.; --,,,="nqr (06 Marks)

b. A rigid motor has ali its-..ffi,.alance in one pt ian be conS,l4.pred to consist of three

masses, rrr = 5 tcg, m :5 kg, at an an_gl. oi tos" counter c6bkwise from a mt and

mr = 8 kg, at angle 8f'4lockwise t'o_q m]\The radii, rr = 29 Cin, 12 : 8 cm, r: : 14 cm'

Determine ttre tatanding mass ,equiredfldt'=a'iadius of 1Q,C,frT&specify the location of this

mass with resp,ffio'f8nm1. ,ft... ' tu:1.' (14 Marks)
:: L:.._ 'ei:#,voR

-d' 
dtu irs::::::iii,

A four;yltgrher incline merlni.pit engine has crffiit angular displacement of 90 ". The

outer,-"e,#i[s are 3 m apaffifld inner cranks are 1 .2 m apart. The inner cranks are placed

sffiEiilrally between tlii,ffirt'er cranks. fhq b1ilgt! of each crank is 450 mm. If the engine

,gun$at 90 rpm and the'ii hdff"tf reciprocating-',r$arts for each cylinder is 900 kg, find the firing
-,qfld;rder of the cylinde{Sr'tbr the best pfriiqary balancing forces of reciprocating masses.

+,1**..Oetermine the np,xi'#&rn unbalanced primaiy couple for the best arrangement. (20 Marks)

1

,;r,,i;,,-: ,.. ,"^ 
*;.19[odule-5.

a. Define goffiO. and list the class{fication of governors. (08 Marks)

b. In a porteFg$vernor the arms*and hnks are each 10 cm long and intersect on the main axis.

Mass of each ball is 9 kgand the central mass is 40 kg. When the sleeve is in its lowest

position the arms are 1gS[iraed at 30" to the axis. The lift of the sleeve is 2 cm. What is the

force of friction at th6:-sleeve, if the speed at the beginning of ascend from the lowest

position is equal to tttE speed at the beginning of descend from the highest position. What is

the range of sffiof governor, if all other things remains same.
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OR ffib.'ry

l0 a. Define gyroscoBic couphend explain the effect of gytffi.in airplanes.

b. An aeroplane makes a iomplete quarter circle of ffinpifius towards ]

300 mm. The engine runs at 2500 rpm clocffieAvhen viewed liom the rear. .Fmd the

gyroscopic couple on the aircraft. What will h,th8 effect if the airplane turns towards right

instead of teft? ay - ff' o'* (10 Marks)

(10 Marks)

b. An aeroplane makes a bomplete quarter circle of ffir{fladius towards left when flying at

175 km/hr. The rnass of the rotary engine and prfrffir is 400 kg with radius of gyration
&vhen viewed from the rear. Find the

insteadof teft? *. eu* fl o'-
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